T
g
Q
T T T T 1T 1 w I T 1 T 1 T T
_ _ _ ! = £ — e —
1 m L _
__ CO 13-11 — — —
=~ CO0 13-11 | N |
_COo 9-7 — €O 13-11
1 o L - B _
M - Co 13-11 N
—— CO 11-9
4 m L __ CO 8-6 —
— TFel ] N - CO 5-3 ]
— Fe I — — _
- — __ CO 13-11 -
R | — co 7-5 |
~co 13-11 >~ — CO 13-11
=< CO0 13-11 - — -
— €O 12-10 - — -
4~ L _
| < - —— CO 12-10 |
> — CO 13-11
1o L _
— €O 13-11
__ CO 10-8 7 ~ 7
=~ CO 11-9 _ n — €O 10-8 _
— 'Cco 8-86
CO 13-11 - © - -
— €0 13-11 3 | |
L %lae Jm B Fe 1 —
— CO 6-4 | - — €O 13-11 -
_ n — €O 13-11 _
16 L _
< - |
~ — CO 9-7
1o L —— Co 11-9 _
— CO 7-5 ] B __ CO 3-1 ]
__ CO 12-10 | - T Fel |
=~ C0 13-11 _ n — CO 13-11 _
— CO 13-11 < __ CO 13-11
—x — — CO 4-2 —
1o B N CO 12-10 |
co 9-7
—< €0 2-0 - - -
— €O 5-3 ] B ]
1 o L _
— ¥ - _
4 m L~ €0 6-4 — Ca Il —|
¢o 13-11 — — CO I3-11
— — ”l/ CO 8-6 N
— Co 13-11 . - €O 2-0 .
__ CO 13-11 _ L _
> CO 11-9 Q Si 1 —
— 3 -
1 m L
— CO 10-8 _ L
4. L
<t
— €O 12-10 —x — ™~ CO 5-3 —
-4 ™ - — CO 12-10 -
| N — €O 11-9 |
— €O 13-11 | B _
— CO 13-11 o 86 e ~ n
1 1 £98°, L1 T S =l e by b Feli =
o [v0] © <t a2 o o [v0] © <t a2 o
S R 9. S 9. * S R 9. S 9. *
~— (@) (@) (@) (@) (@) ~— (@) (@) (@) (@) (@)

3760cm "

3751 3752 3753 3754 3755 3756 3757 3758 3759
ACE

3750



